


BB ot
B=%. BEHELI

= AT 53R SHE S EE
15 A& H| o3

16 ML E LR

17 AT (ERLiEay 20% /- 44
18 FAEL 1}

19 N4z 5 )




I

YN




BR & tms KRR
AR S1/5) AR 70257

= |

MRt
BARA .
EHATSE
Emmx SERRTSENAS

BYSTE AR

EE?JEEZIS
w1 BE AR ELENIEFERE, SIKAIER
T+ 3 H



BB otas Amfom

(1771

1. BEMEEE AR RS T 5%, BRLEI%S,
HRAGRZHAEE N RRESVREE T RER; LR E )
AAgERE S E B R RAT AN A AR, RAE[E E B T IH 5%
e fRi . EEANR TS, RS, MEBHSEEE.

2. BIEMNAS AR B EEREITHER, BRRILHEN
—ENESEAHEE M. B miiml st SRS 24
RYEAR B A S 7= B R A = SOR B an S5 A vt R &, bR
—HRFE TR — BRI —ELS) RECHF.

3. IREMAEFELTINA - MiBEEAE . EHEFHHAE .
PELERRA, EE X228 AR E R AE 2 A



BB otas Amfom

(iR s2/5] ZRBAE-2/E

— RERATES T ERATERR Z [FAFAE R ZE 5

L WIRAELE G Eei) AN

TEEBATE T IR G2 plibh) A =BIRAF 528 E
77 RAR + B ARAF B3 ] R i 1 9

REIRATE TR G2piin) A =BIRF AR E
[R5 N

2. 4 3FE (frmeising) HEAR




BB otas Amfom

(AR R2/51 RAUAE-/E
TEAEMATL T
AT 1= BN — BRG] 72 3E %2 SM I BT 5 R — (O
VA7 2 v [ 7 135 9% FH -+ 2 1] e il & 9 FH — BIAR A7 B3 b [ /2 il &

5D

RN RATL T

AT =8 B WO\ — B[] 72 1l 3E 92 A ST BT 52 R — =3
[ 7€ 1li& 9% F

PP T I5EHIAE 2E 5

BEAHTAE - B AT AE2= - GRIAF b b [ € & 95 + =
SRS 7E & 5 — BIRAF IR B EwIE S D 1- [~ wliE 5%
il

MO 3—=F= A4 1 e e e BB O HO 17 = A s = 2 Bl H 81 O



BB otas Amfom

(AR A3/5] AER S TrEARER-K/F

BEHRATAE=B0 X & — BB A X & — [ A

=t 8 X B b oT ik — B 72 plAN=12 br ok — [ 7 A

=H N X 32 b ok 28 — [ 2 pli A

RAE=[E A/ (R — BALRFI A = E s/ BArid
bR DTk

RAN=[E] 7€ A /1A BTk 3

A7 ImA R R=8 T RS E/ SEhE Tt &

AN bR =2 AT bR A/ SEFRE TR T A0

BERERTRNE=% 210 brE X 1 PR otk F=22 410 br & X AL bR

=N
B
} TR+ BT 5 S EFE=]

HE BB AR =2 £ bR R X T bR otk R



BE & tis A

[#27~]

£ “HHER" PRt sd Y, e
MV AR B R A LR R R AR B A, AR F AL,

£ “tHERE” DStV R RS BR ok A B B, %
b IR B A R RN R B A, WA N AT



BR &= tis AERsH

[51iR 54/5]1 % dikfr=mA B R 5 thr-%/ %
(—) HEERK DL
e BT Y32 bR Tk %
PR A B L0
gy AP ST TR B
AFE L TP AT
A= & 5 I St AL
AF= i 2 A1l PR
W BAEEERMNG, SWMERSNE, EFNENE

g il |
Jllﬂl




BB otas Amfom

(k1R =4/5] ZmMr=mAERN pih-%/+

(=) BiEAR

IACF- 54 bR oa k= (X &= BRIk / X & 9= i
) X 100%

(RAEYEE R B= [ 5E BAS S/ BT 35321 bk 53 ik 6

MmN E B =zt m S/ A P m S
i x100%

S R S IRASE A S X SRl il 4
[EE ¢

IR S =12 R EHED/ 1% &
Ay



BE & tnis AmFIH
[ 5018 55/5) FTHEUR -2/ F

| mxmu
- =

BURRE | 5148,

#RHER T U TBURR R, ZxHE/hT1UE TIEBURR R

U R BN IEE R, 2RI 5 R A 5] ) 34 sk

BURRBORAER, R E 5 RN A I A5

[ 527~ ] Fian & s R4 BN EUR R B2 BT R
=1/ %5 UbRZE




